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E(Lt) = L∞ −  (L∞ − L0) e−Kt



E(Lt) =
ω
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 1 − e−K(t − t0)
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E(Lt) =
ω

K
 1 − e−K(t − t0)





E(Lt) = L∞ −  (L∞ − Lr) e−K(t − tr)



E(Lt) = L∞

1 − e−Kpr(tpr − t0)−V(tpr)+V(t0)



where V(t) = 


Kpr(1−NGT)
2 π


 sin( 2π

1−NGT
(t − ts))



E(Lt) = L∞ −  (L∞ − L0) e− ω
L∞

 t



E(Lt) = L∞


1 − e

− log(2)
(t50 − t0)(t − t0)





E(Lt) = L1 + (L3 − L1) 
1 − e−K( t − t1)

1 − e−K( t3 − t1)



E(Lt) = L1 + (L3 − L1) 1−r
2

t−t1
t3−t1

1−r2

where r = L3−L2

L2−L1
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E(Lr − Lm) = (L∞ − Lm)
1 − e−K∆t





E(Lr) = Lm + (L∞ − Lm)
1 − e−K∆t





E(Lt) = L∞

1 − e−K(t − t0)−S(t)+S(t0)



where S(t) = 


CK
2 π


 sin(2π(t − ts))



E(Lt) = L∞

1 − e−K(t − t0)−R(t)+R(t0)



where R(t) = 


CK
2 π


 sin(2π(t − WP + 0.5))



E(Lr − Lm) = (L∞ + β(Lt − Lt) − Lm)
1 − e−K∆t
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E(Lr − Lm) = (α + βLt)
1 − e−K∆t
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E(Lr) = Lm + (α + βLt)
1 − e−K∆t
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e−gi∆t
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E(Lr) = L∞ 



Lm

L∞





e−gi∆t



E(Lt) =
L0L∞

L0 + (L∞ − L0)e−g−∞t



E(Lr − Lm) =
∆Lmax

1 + elog(19)Lm − L50
L95 − L50



E(Lt) =
L∞

1 + g−∞(t − ti)



E(Lt) =
L∞

1 +  ae−g−∞t



E(Lt) = L∞ 1 − ae−kt

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E(Lt) = L∞ 


1 −

1

b
 e−k(t−ti)




 b



E(Lt) =
L∞


1 + be−k(t−ti)


 1
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E(Lt) = L∞ 1 + (b − 1) e−k(t−ti)


 1
1−b



E(Lt) = L∞ 








1 +




L0

L∞





1−b

− 1



 e−kt





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 1
1−b



E(Lt) = L−∞ + (L∞ − L−∞) 1 + (b − 1) e−k(t−ti)


 1
1−b



E(Lt) =
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

L1

b + (L3
b − L1

b) 
1 − e−a( t − t1)

1 − e−a( t3 − t1)


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 1
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E(Lt) = L1e
log 

L3
L1
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 1−e−a( t − t1)

1−e−a( t3 − t1)



E(Lt) =



L1

b + (L3
b − L1

b) 
 t −  t1
 t3 −  t1






 1
b



E(Lt) = L1e
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